Honors Math Il Name ﬁe)/

Mid chapter 4 Retake Review WS Period Date
Solve for x.
1. 2x*4+5x+3=0 2. 3x*24+7x+4=0
i
Xx=- x= "3
Xz Y2 X=-I
3. 6x2+5x+1=0 4. 11x*+2x—9 =
Y | 7 _ L
XK=~/2 X= ’/5 X= Y x=-1
5. 5x24+14x—-3=0 6. Ix*—1=0
X="/5 X=-3 W = j_"/b
7. 4x* —=25=0 8 x4+ 14x+49=0
x= L5/, X=-7
9. x2—24x+144=0 10. %*—121 =0
K= 12 =t
11, 2x2+23x+11=0 12. x24+6x+5=0
= -l x=-1l K=-5 X= -]
13. 7x*422x+3=0 14. 7x*+4x—-3=0

X=="7 x=73 fefy W]



15. x2—4x—-12=0

X=b X=72

17. 2x*4+9x—-11=0
% ==l o =
> %= |

19. x>+ 10x+25=0

21, 4x%2 -9 =

23. 9x?2—-36=0

25. 15x2+7x—2 =0
=5 X= ">

Write the equation for the following graphs.
27.

28.

16.

x2—7x—-18=0

=29 X==Z

18. 2x*—-9x—-11=0

x= +l  x=-)

—

2

20, x*—16x+48=0

K= Y=12.

22. x2—-25=0

)(":_Jfg

24, x*—-16x+64=0

X=%

26. 6x*—7x—-5=0

X:‘S’/a )(‘:'I/?,.
29.
> L= ~3x*+g



Graph the following equations.
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33. f(x) = (x+2)? -8 34, f(x) = —2(x—6)(x—1)
Vs C’Z,-S’) \
Write the end behavior and interval of Vertex: (85,125 -2(3.5 635V

increase and decrease. . i : . )
x> 00 £OND 0O d‘wease (-20,-2) /Mm. (55 X
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Write the quadratic equation for the given information.

55, (—6,0),(2,0),(0,—16)
¥ (x) :a()(-\—l;)(X'Z)

o= Lot Y02
“l = al=12)

= e
\2

o= /3
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36.

38.

(2,0),(-2,0),(0,6)

)= o (x-2Y X+2)

L= alo-Do+>

(o= a(«'-ﬁ
- (b
o=l
-t
a=-2/2
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